Pr=0.714 50% Pr=0.714 Pr=0.719 Pr=0.712 9.8067
24 24 18 18 24 24 0 0 35 35 273.15
A 0.0223 A 0.0219 A 0.0223 A 0.0208 A 0.0230
v 1.57E-05 Y 1.51E-05 \ 1.57E-05 \ 1.34E-05 Y 1.70E-05
29 29 28 28 29 29 0 0 35 35
L 2.0 L 2.0 L 2.5
a=Gr Pr 3.819E+09 = 8.447E+09 = 7.459E+09 0
= 3.365E-03 = 3.435E-03 = 3.365E-03
a s a o Nu7 a1 a o a o Vm/s e
w/ 2h w/ 2h w/ 2h Nul,5 w/ 2h Nul,5 w/ 2h 1. m
234.5 6.00 81.9 2.09 230.2 5.89 41.5 0.86 34.3 0.79 0.1 7,448
234.5 6.00 81.9 2.09 230.2 5.89 99.9 2.08 82.6 1.90 0.3 22,343
234.5 6.00 81.9 2.09 230.2 5.89 150.4 3.13 124.3 2.85 0.5 37,238
234.5 6.00 81.9 2.09 230.2 5.89 261.8 5.45 216.4 4.97 1.0 74,475
234.5 81.9 2.09 230.2 5.89 362.1 7.53 299.3 6.87 1.5 111,713
234.5 81.9 230.2 5.89 455.8 9.48 376.7 8.65 2.0 148,951
234.5 81.9 230.2 630.5 13.11 521.1 11.96 3.0 223,426
234.5 81.9 230.2 948.8 19.73 784.1 17.99 5.0 372,376
6.0*1.28= 7.7 6.0*0.5= 3.0 6.0*1.0 6.0 1,097.7 22.83 907.2 20.82 6.0 446,852
x1.28 x0.5 A 5 MINA.O MAX23.0 7.0
25.00 o o_2-a ow
5.0
aw/ 2h 13.1
(Gr,Re
20.00
15.00
6.1
0
10.00 a =6.2 0.8
k=1.0
A o R= 0.15+0.79 +0.06=1.0 K =1.00
5.00 /ﬁ‘ ar=6.1 o o0=23
: newR= 0.16+0.79 +0.04=0.99 K*=1.01
" : 5 /
0.00 {
0.0




